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Раздатка 1.
 
Раздатка 2.
	47
	101
	54

	23
	108
	78

	12
	372
	132


Раздатка 3.

	1 вариант.

Ф.И. ______________________________

Задание. Решите уравнение и выберите правильный ответ.

1) х + 605 = 700.

     А) 12       Б) 95        В) 34

2) 409 + у = 511.

     А) 102      Б) 75       В) 91

3) k – 169 = 321.

     А) 342      Б) 483     В) 490

4) 603 – р = 83.

     А) 592      Б) 520     В) 499
	1 вариант.

Ф.И. ______________________________

Задание. Решите уравнение и выберите правильный ответ.

1) 474 + m = 500.

     А) 26       Б) 44        В) 68

2) х + 96 = 1004.

     А) 203      Б) 19       В) 908

3) у – 708 = 194.

     А) 759      Б) 902     В) 591

4) 511 – а = 208.

         А) 303      Б) 432     В) 201


